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	PYTHAGORAS’ THEOREM
	(
	(

	
	I can use Pythagoras’ theorem to find the hypotenuse of a right-angled triangle
	
	

	
	I can use Pythagoras’ theorem to find any side of a right-angled triangle
	
	

	
	I can use Pythagoras’ theorem to find the height of an isosceles triangle
	
	

	
	I can use Pythagoras’ theorem in practical problems
	
	

	
	I can find the distance between two points from their coordinates
	
	

	
	I can use Pythagoras’ theorem in 3-D problems
	
	

	I need to practise …. 




Grade C: 1 to 12 marks
Grade B: 13 to 18 marks

Grade A: 19 to 23 marks
Name:


PYTHAGORAS’ THEOREM: Grade A





Key descriptor: Use Pythagoras’ Theorem in 3-D problems





Score: __________/23		Grade:______
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5.	Find the distance between the points with coordinates (3,-4) and (8,6)
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6.	In the prism below a=2cm, b=4cm, c=3cm and d=11cm
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a)	Calculate the length of ‘e’.
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b)	Calculate the length of the longest line that joins any two of the vertices.
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Overall, for this homework I think my success level is: 
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1.	A right-angled triangle has two shorter sides of 11cm and 7cm.  What is the length of its hypotenuse?  Give your answer to a suitable degree of accuracy.











____________cm





2.	The triangle below has a base of 7cm and a slant height of 8cm.  Work out the length of ‘h’.



































____________cm





3.	A triangle has sides of 6cm, 9cm and 12cm.  What type of triangle is it?  Choose from the list below and explain your reasoning.





Acute-angled�
Right-angled�
Obtuse-angled�
�



	Reason:























4.	In the diagram below P is the centre of a circle and QT is a tangent to the circle at the point T.  The length PQ is 13cm and the length QT is 12cm.  Calculate the length of ‘x’, giving a clear explanation of your reasoning.


� INCLUDEPICTURE "http://schs.kana.k12.wv.us/bosticc/GeoWeb/circles/TanSecant/tangentexample1.gif" \* MERGEFORMATINET ���
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